A x, y o tiste] 3x+ 2y =0 Q1 BAE &, oh A9 gh2?

3xy xy
2x2 +y2  3x2 —y?

16 52
(ON! @1 ® -1 @ﬁ @—1—7



a n b n c
ab+a+1 bc+b+1 ca+c+1

2. abc=19 0,

ofzt.

YR
=%

o gre 7ot



3.

o THaHA] A o 4] i — 2x + 4 B Wolof & A& AL Hate
HY 422 + x—3 0] Flgich. o] u, o thakAl 4 9

DO 2x24+x-1 @ 3x2-x+1 ® 4x2+x-3

@ 5x24+3x-7 ® 6x2+5x—11



11 18
= ©®-5

®

15
35



nhe g y e 3w ooy o] S



6. o= AT 2Tt s 7 obd A7

® ab x a®b? = a®b? @ a? +a’bx b?
® a?b? + (-a) + (—ab?) @ ab® x ab + b?

B b2 = a3b* x a3b3



® 175

® 125




8. 4dx+3y=29¢ M, 5(x-3y) -2(4x-3y) & x o W3 Ao =Z L}E}
tjojzt.

B
=¥



ol
ol
ofg
Nfo
BO

oln

o] 27} ol



3
10. (—%x2y3) +axby© + <—éx2y3) = x3y* A a+ b+ c o G o}
of et

e
=%



